Réwnania rozniczkowe

zad.1 Rozwiazac réwnania rézniczkowe:
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a) x+l=x’—y
b) (1+)c)y+(1—y)xﬂ
dx

. . dy
€) sinxcosy =cosxsiny—
dx

d
d) (x+))=-y=0
dx

e (x+y)y'-2y=0

d
) x—y:y+w/x2+y2

dx
2) xd—y:y(lny—lnx)
dx
h) (xz—xy)d—y—i-y2 =0
dx
. 1 .
i) y+ycosx= Esm 2x

j) V'+2xy= xe ™

—sinx

k) Yty =

CoS X coS X
) 3x>+y° +2y(x—1)d—y:0
dx

m) (2xsin y — y° sinx)dx + (x° cos y +2ycosx+1)dy =0
n) (x> =3y*)dx+2xydy =0

0) (xsiny+ ycosy)dx+(xcosy—ysiny)dy =0

p) y(2+xy2)+x(1+xy2)§20
X

) 2xtgy+(x2—2siny)ﬂ:0
dx

r)y y'+2y+y=0

s) V'-5y"+8y'—4y=0

t) »*¥-16y=0



u) yY +5y"+4y=0
V) y'"=7y""+16)'-12y =0

(5)

w) &+ y®

"

+2y
x) y'+y'=x

y) U2y =x°

z) Y'"-3y"+3y+y=e”
aa) y''"'+y"'=sin2x

bb) y¥ +5y'"+4y = 3sin x
cc) y'-3y+2y =cose "

dd) y'"-2y'+y=—e"Inx

+2y"+y'+y =0



